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| nstructions to thecandidaies:

1)
2)
3)
4)

5)

Ql) g

b)

Q2) 8

Attempt Q4,0 Q2 and Q3 or Q4.
Neat diagrams must be drawn wherever necessary.
Figuresto the right side indicate full marks.

UgeHof logarithmic tables slide rule, Mollier{gharts, electronic pocket

calculator and steam tables is aIIowqd. -
< /

Assume Suitable data if necessaryy
,').

<Y
Solve any two " [10]

2 ~N
) ¥+4y:xsinx \ ]
\I
N A
iy (D*—6D+9)y= & (Use method of variation of parameters)
'S

2 v
ii) xz%— 2xﬂ—4y: X

dx
ax o dy @ dz
Solve: VEXZ —X—yz X—y [5]
OR
Solve any two [10]

) (D*+2D + 1)y =4sin2x
i) (D?+ 4)y = sec 2x (Use method of variation of parameters)

d? d
|||) (X—|—a)2y—4(x+a)d—i—|—6yzx

PT.O.



b)

Q3) 8

b)

Q4) &)

b)

Solvethefollowing simultaneous eguations : [5]

dx
—+5x—-2y=0
dt y
dy
—4+2X+y=0
dt y

By wusing-,Fourier integral representation “wshow that

c0 COSAX 7
die—e x>0
j; 16G-%° 2 - [5]
Attenipt any‘one: [9]
: Q. 6z
i) Findinverse z-transform of F(2z) = |z 4,k>0
(z+ 26z—4)

i)/ Find z-transform of f (k) if f (e, ki, 0

Solve difference equation f (k l 13§+ 4f(k)=4< k>0givenf(0) =0.
D [5]
<~y
YOR ™Y
~% -

4 [5]
. .  / 4 .
) Find z—transfor{n‘of f(k.=3sin (2k + 3), k>0

Solve any one:

i) Find inverse z—t;ansform of F(2)= by inversion

1
(z—4)(z-5)
integral method:

k!

sinx ,0<%x<a
0 CX>at

[5]

Find Fourier sine transform of f (Xx) = {

A L0<A<1

0 yA>1 (5]

Solveintegral equationff(x)sinkx dx:{
0

e
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